
����� �����	�
���


������� ��	

����������	�
������
��� ��� ����������������

����
�������
	��
��	���
�����
 
��
 ���	

��
���
����
���

��������!!!"#$%%"



�

&����
���������� �������

���	��� �� '()*+(, ��% -
��
	�������������� -
.	����	����
� /

����
������� ����������������

'�
0������ �
1*23*4) &5&)62 "
3
����7���� ��� 8����
���
���������7���� "
9�
7��
	���
�	���:
��
	����
��� "
3�
���������� "
)�7����7�� 9	��� ;
(���	

	�����������
����� �

�����������
��

�
�������� �
6
�������
����	��� ��� ��
����� (����
����	���� <
'�
��
������ ��
 (����
����	��� <
6
�������
����	��� �%
��������� �%

���������������

���
���
�
���������	7���

��� �-
�
����������	������
�

� �-

�������

8����

�������� �/
9�7������0	
���� ��
9�7���7���
0	
���� ��
&7�	
���

���
��
��� 	� 8����
��
�� ��

��������� ������� �����
����!�� "��#��� 

��� �
�� ��
����� �"

��
����$��#���
���

(��	
����
���7����

�
�
�
�
��
�
�



%

������������� ���� ��� &��#'�����

(��)*�+ ,-.

9�� .�
���
�	����������
 '()*=
+(,>��% ������ ��� )
�7��������

	��=
����?
�
?�� ��� .�
� 	��@ �A�
���
��
 '�
�
������ ��� .�
� ����
 ��=
��
��7�����
 +��������
 ��
0	���
�
��7� �	� .�
� ��
 .�
����
�@ ��� ���=
��
 '�
0	��
��� �������� .�
��	�B
�	� 	��7�
��C��� ��
 �
������� ��=
�����
� ��� �� 3�
� ����
 ,	�=
�
	��� �� ����
�� )��
 ��� 8����
�
��
�
	��� 0�
�@ &�
7� ��� .�
���
=
�
���������
�	�
�� �

	��� ��B �	�
.�
� 	
� ����� ���
 ���������� �
���=
����� �� �������@ '()*+(,>��% 8����

���� ��
 ��� '�
�
������ ��� .�
�=
�7������ 	����
���@

���� �������	�
 ��
 �����
����
���� �������� ��� ���

�
���

�
�����
�� 	�� 
��
��
��
������������������� ���� ���
���
���� ������� ������� 	��
����������	!��� "�
	�

����
���� #��$��� %��� ����&
� �������
	
�'( �
� 
����

���
 	�����

�
�'

������������������

9�� 8����
 ���� �����
�7���� ���
��
������ ��
��� ��� '�
�7�
�����
�� ����	

��
��@ '(6&&2��� ���=
����
� ��� '�
0������ ��� &7��
�=
���������A����B ��� �	� 9�
7���7��
�
��
7� ��� �A��� ��
 &7��
������
��=
���� ��
�����
�B ��� �
A�� ����� '�
=
	��0�
���� ��
 ��� ��7����	7�����
�����
 6�����
��� ��� �	
	�� ��
=
����� &7�A���@ 3�
 ��� �	7���
�7�=
��� ���
��� ��� '()*+(,>��% ��� ���
'�
0������ ����� '��
0����2��7�=
�����
� ���
 �	7� 6�
���
� 6�>-%-��
��� ��0������ ����� �A
������=
7��
�	��� ��� ����� '�
����B �	�
���AC :���� /@$@� ��
 �@ �@ ��
�
��
�7���� 0�
��B ���0�����@

3�
 ��� �A
������7��
���
�����	=

�	��� ������
� '�����	�� ��� 6��=
�	�� ��� )��
��
��
�
� ��� )?�
+	����	�>$�@ 
����
 ��� ���	�
������ 	� ���
&7��
������
������ ����� ������=
�A���� 	����7�
����� 0�
��� �	
�B
��� ��� ��������� ,��	7���� ����� ��=
������ &7��
����������
���
����
���
 ��� 2D�
�7����� ��
 ������� ��

��������� &7��
������
������ �� �
=

	����@

�

������� (���
�	������

(������ ,-.

�
�
�
�
��
�
�



/

�

������� (���
�	������

&������������ ��� �������

�
�
�
�
��
�
�

Regelung

Einsatzkammer

Türverschluss

Schornsteinklappenhebel
Schornsteinklappe

Einsatzkammertür

Gebläsegehäuse

Brennkammer

Aschenkasten

Aschenkastentür

Reinigungshebel

Vorlauf Heizkreis

Schornsteinklappe

Schornsteineinführung

Gebläse

Heizgasrohr

Kesselwasserablass

Rücklauf Heizkreis

Brennerdüse

Überhitzer

Reinigungssystem



-

(��	������ 

9�
 7������
�������
�� )����
	��
=

��
�
 ��
 .��������
 68*&)64 ��� ��

��� &����
��� ��� .��������
���
A=
��� ��� ��� &7�	
���� ��
 E�0A
�=
����� �� .����
���
A���� 	����
���@ 
9�
 4��
�
 �	� ��
����� 3���������F
� ���
�7���
�	
���� ��
 ��������

���
8����
�����
	��
 ���
 ,��
A��=
�����
���

� &�����
���
 ��
	�� ��� ,��
A���
� 6�����

�	
� ,��
A��
������� G&�
=
��7����
���H

� :
��
	����
�	
�� I9�
7��
	���J
��� 8����
�

� �����	���7�� ���7�	
���� ��

&����
��� �	7� 8����
	��
D�7����
G���� �
��������H

�,��
A��	��7�	
���� ��
 ��� 9	��

��� 6��
����� �� ��� 8����


�E�0A
������������
��� �� ��=
�A�������� ��� ��
 ��������

���
:��������
���������
	��


� I1*23*4) &5&)62J
� 3
����7���� ��� 8����
���
���=
������7����

� )����
	��
�����
�&�D
0	
����
� 6�����

�	
� 9���
	?���
��7������=
��A
�� K 
��7���� ��A
��
 0A�
���
��
 ���A������

� ���7�
����D�
�7����� ��
 8���
�

=
�	���


�E���
�������� ��
 (����
	�����
=
����	�

� �����	���7�� ���7�	
���� ��� 3��=

	�������� ��� 8����
�

9�
 4��
�
 ���� �	7� ��
 ���7�	
=
���� �� ��� &)*:�L���	�� ���
B 0	�
���
 ���� �����
�7����� ������� ��=
��	
����
� 0�
�@ 9�
 ���
��� 0�
� �	7�
��
 ���A������ ��
 &)�4)�)	��� ���

	����	���7� ��� M��
�7�
������ ��

&7�0�

�������
	��
B �@ �@ ��
 9����=

��� �0��7��� ��
 ��������

��� )��=
��
	��
 ��� ��
 �� &�
��7����
���
������

�	
�� )����
	��
�����
���
I��JB 	���������� 9�
 	����	��=
�7�� M��
�	�� �� ��� &)*:�L���	��
�
��
�� -% 2������B �	7���� ���
8����
�����
	��
 ����
�	
� ��

&7�	
������
	��
 ���	

�� ���@
M��
 ��� I�J� ��� I�J�)	���� 0�
=
��� ��� 6�����

����� ��A���
�@ ��
=
��� ����� )	���� �� ��
�	
���
���
���A����B �� 0�
� ��� 8����
�����
	=
��
 	�������� ��� ��A���
�@ ����
��� )	���� 
A���
 ���
�7�� ���	
���
0�
���B 0�
��� ��� 6�����

����=
0�
�� �7���

�
 ��0�7���
�@
9�
7� ���A����� ��
 &)�4)�)	���F
�E���
�	
� ��
 &7�0�

�������
	=
��
F 6���7�	
��� ���
 ����7�	
���
��
 &����
���B �����
�7����� ��=
����� G&)�4) ���
 &)*:H 
��7����
	��B

�*��
�	
� ��
 &7�0�

�������
	=
��
F ,��
A��	��7�	
����B &)*:���=
����� �
����B �	7�
���� ��� �
���=
����� �D�
�7�@ 4�7����
 �� ���
�����	������
��� �	7� ���A������
��
 &)�4)�)	���@

4���
���

����
������� ��� �����������������

�
�
�
�
��
�
�



0

1)23)4� �5��62

9�� ������	��� 1*23*4) &5&)62
3������� �� 4��
�
 ����� ��
 �
�7���=

��� ��
 E�0A
������ ��
7� '�
�	
=
���� �� &�	��
�4���
�L0��7���
	��
��
@ 9�
 4��
�
 �7�	
��� ��� E�0A
�=
����� 	�C�
�	
� ��
 .����	���� 	

�
�/ )	�� ��
 -% &������� ���@ 9�
 ��=
�
��� ��
 :���� 0�
� �� ������ ��=

�
��������� ���
 ��� �
�������
I:E2:6J�������� ����	
����
�@ 9	� &?=
���� ����� ��� ���
��� � 2�����
�	7� 6���7�	
��� ��� 4��
�
� 	��@ 9	�
6���7�	
��� ��
 :���� �� �����	���=
���
��� ��0�
��B �	�� ��� �/ )	�� 	���
���� ���A�
� 0�
���@

3������
��# ��� ����������
��#������
��#

9�
 4��
�
 �7����� ��� .����
��� ��

6���
��
��B ����� ��� E�0A
������
������7�	
��� 0�
�B �	

� ��� )����
	=
��
 	�� />�1 �A

� ���
 ����� ����
=
�7�
�����@ ��� )����
	��
���
�7�
��=
���� ��� <%>�1 0�
� �	� ,��
A��
	�����7�	
��� ��� ��� E�0A
������
������7�	
���@ 9�� M��
������� ���

8����
� ��� 	� ��
 �
�������� &)*:�
������� �� �
������@ (� ������ 3	

�
��� ��� E
�	7�� �� �
������ ��� ��
�������B �	�	7� ��� 8����
 ��
7� ���
���A������ ��
 &)�4)�)	��� 0����
 ��
���
��� ������@ 9�� :���� ��� �����
������7�	
���B 	�7� ��� ����	

 ���
)����
	��
�����
�@

7���
����$������89������������� 

� &)�4) �
�7��� ��� 7	@ - &�������

	�� �	
���B ��� ��� �6)4(6�&L6()�
������� 	��
��7����

� ���
�7���
�	
���� ��
 ��������

���
8����
�����
	��
 ���
 ,��
A��=
�����
���

�M��
 ��� I�J�B I�J�)	���� ���
9�
7��
	����� �� &������� ������

��

� &)�4) �
�7���
�M��
 ��� I�J�B I�J�)	���� ���
9�
7��
	��	��� �� &������� ������
=

��

� &)�4) �
�7���

'�� ������ 2����� 	� 0�
� ��
 4��=

�
 ��� )����
	��
��B ��� ��� 6�����

=
0�
� ���
�7�
�����B ����0���� �	� ,�=
�
A�� ����7�	
���@

����	�
) 
� ��� ����	�

���	 �
� ��� ��� ������
�
�����	 ����
	�	 ��� ������
����
����

� ��� �������	���� ���� ��!�" ��	 ���
������
��#$�%��% ��%�����
	�	& ��
����� '����
������	���% #$�������
%���

3������������ 

9�
 4��
�
 ����
������ ��� ���7�
���
��
 3�
���������� I68*&)64 1��=
�
�
JB ��� ���� 8���
�

� ��� N���
���
��
 	����

�� 8����
���
���������
	=
��
 �

	���B ��0�� ���
 ���� ���
���=
�	������ ��
 .����
�������� ��� ��=
�
����	������ &)�4)�&)*: ��
����B
�
��7������� 0	
�� ��
 ������	���
&����
B 0��� ��� 8����
�����
	��

	�� �
����0�
7��� ,
����� ��� ,�=
�	�
��
��7� �

��7��@ 9�� 3�
������=
���� ��� �	� �%�2���
�8	��
 ���D
��
��7�� ��
 ,
���	����	����� K ��� ���=
��� ���A��
�7� 	
� L����D
 ���	���
0�
���@

'�� ������ 2����� 	� 0�
� ��
 4��=

�
 ��� )����
	��
��B ��� ��� 6�����

=
0�
� ���
�7�
�����B ����0���� �	� ,�=
�
A�� ����7�	
���@

4���
���

����
������� ��� ����������������� :3������#���;

�
�
�
�
��
�
�

&)*:

:E2:6

,6�+N&6

�E3.6(L6�

9E41.�+�&6� � :�E&6

9E41.�+�&6� � +�E3L6()



<

���
����
� 7���� 

!�@ )����
	��
������
��7� �< �1 ��� O<< �1
!$@ )����
	��
������

��
��7� O"% �1 ��� O�% �1
!-@ &7�	
������
	��
 ��
 E�0A
������

��0@ )��
����	������
���
O"� �1

!/@ 9�
7��
	������
���F K  +	������F %�<% &�������
K :	���F ���� 2������
K 9�
7��
	���
�	�� �	�� 	�=
�7�	
��� :�%

!�@ &�����
��� ,��
A�������
���
!"@ .?���
���� G9����
��� �0@ 6��� ���

����7�	
���H
$ ��� < �1

!;@ L�
A����� ����	�����
	�����F � ,��
A��F �%% �
� :����F �%% �

!�@ ����������	����� $-% ' �1B �% .�
!<@ ������
	����� $;� '�
�%@ 4���
�	
� ,��
A��
������� �� P Q>�% G4���
��
��7� $%��%% PH
��@ 4�
	���� +������7�������� ≤ <� P
�$@ &7����	
� (: /%
�-@ (��
��
�
	��� (
�/@ E�������������
	��
 % � /% �1
��@ )
�������	
� ��


�"@ 6
���
��7�� &�7��
��� $ R �@$� � G&7���
���7��
���H

����	�
) (�

� ��� ��� ����
�) ��� *)��$
 ���� ��������	& �����	�	 ���& ����
��	����� ��� �������	�� ++ �" ���������		�� $��� ,+ �" ��	�������		��
��	& $��� ���� ��� *���$� ����-	 ��	� .� ��� '����
 ��� ��� /����
-���� �� ����	���& ���� ��� 0���� ��� %���� 1��	 ���%�����
	�	 �
���
���& ��� ��� �������	������$� ���%�������
	 �����

���7�
��� ��
 E�0A
������B ��� ,��
A���B ��� 8����
�����
	��
�����
� ���
��� (����
	���)��
����	���

4���
���

����
������� ��� ����������������� :3������#���;

�
�
�
�
��
�
�



=

������������������
������ 

!�@ 9�� )����
	��

��
�
 ���� ��
 ��� ���
��� ��� .��������
� 	����
���@
!$@ 2�� ��
 (���	

	���� ��� 4��
�
� ��� ���� ������� :�
��� �� ��	���
	���@
!-@ 9�
 4��
�
 ��� 	� �� ����
 &��

� 	����
�����B 0� �
 ��7� ��7�� 	�� ���
 /%>�1

�
������ �	��@
!/@ 9�� (���	

	���� ��� �����
�7���� ��
 2*�)�,6���
������ ��
7������
��@
!�@ 9�
 4��
�
 �	
� ��7�� ��
����� 6��0�
��� ��� �	���
 ���
 E�0�
���������=

���B ��� �� 8������0	���
��
���� G�@ �@ �
D��
�7�� )����
	��
�7�0	����=
���H ���
��B 	��������� ����@

!"@ 9	� ,�
A� ��

�� �����
�7���� ��
 .	���	�����
���
� ��
 6
���
���
A�� ��=
��	

��
� ��� ������� 0�
���@

!;@ 6�� 9�
7��7���
��� ��
 &�7��
��� ����
�� ����� 3��
	��7�
����� ��
 :��=
���
�������� S�	
������
� ��7�� ��
 ���� ,	
	����
��	
	��
@

!�@ 6� 0�
� ������
�� ��� 4��
�
������

����� ��
 ��� (����
����	��� ��� .���=
�����
� �� ���
�
����@

!<@ 9�
 4��
�
 ��
���� ���
 $ &�7��
����� G�B$� �H@
�%@ &6�&*4 �
�7��� ������
�� G�@ �@ ���� T
H@
��@ ���7�
���	
������ 	� ��� �����	��
� ��
 :���� ��� �	� ���0�7���
� ��


&�7��
����� ��
��� ��
 ��� ��	�������
�� ���7�	
����� 4��
�
 �
��
���
G�������7��
 	�� ��
 &��7����� ������H@ &�
���7�
	����	�
 �� 3	

� ��� ��=
�7�
���	
������ 	� ��
 :���� ��� ��������7���� 4��
�
�������7��
@

����������

9�
 8����
 ��� ��
 ��� '�
�
������ ��� .�
��7������ ��� ����
 3��7�������� ���
�� ��� $% P G�	R@ -� PH 	����
���@ (� 8����
 �	�� �	� 	�7� ��� �% P 	
� L�=
�	�� ��� .	����
�������� �
������ ��
0�����B ��� ���������� �% 7� 
	�� ���
/ 7� ��7� ����@ 
(� �����
 ���7�
	����� .�
� ��� ���������� �$ 2��	�� 
	�� �� 
	��
� K ��
&����
 ���7�
	����� .�
�B ���������� �� 2��	��@
+	����
� G��7��B .	����7��B 6�7��B ��
�� ��0@H ��� 	� ������ ��������@
9�� '�
0������ ��� �	��
��
� ��� 	�7� �D�
�7�B U���7� ��� 0���� ��
 ����
�=
��� 9�7��� ��
 �
���0�
� ��� �
��7��� .�
���
����� �
����
 	
� ��
 ���
+	����
�@ 9	
���
 ���	�� ���
� ��� '�
0������ ��� �	��
��
� �� ����
 ��A
��=

�� ��� �7���

�
�� '�
�7�������� ��
 �A
���	��7��
�
A7��� �� 8����
@

����	�
) 
�� ��	 #���$	�� ������ ������	$����	�� �� #��������& ��� (�����2��& *2%��

���
& (���-$�
�& '$-�& '$�
� ����

4���
���

����
������� ��� ����������������� :3������#���;

�
�
�
�
��
�
�



>

9�� 6
�������
����	��� ��� 8����
� ���� ��
7� ����� .��������	7����
���
��
7������
� 0�
���@ '�
 ��
 �����
�����
����	��� ��� 8����
� G���
 .��=
�����	�
	��H �	7� ����
 
	���� ���
�����	��� ��

�� ����
	7�� ��� �����
.��������	7����
��� ���	
��� 0�
���@

(����������� #�� �����������
�� 

3�������� ���� ������� 	�����?

�@ &��� ��
 8����
 ��� ��
 .����
��� ��� ����
 ���������� 2���� 	� �	���

����

�V

$@ 9�7������ ��
 .?�
	�
��	��7�
����
-@ '�
���� ��
 8����
 ���
 ���� 
���������A���� G��
7��A����� ��� ��7���H

&7��
������
������V
/@ ���7�
��� ����� &�7��
���������
� 	� �	� 8��
�7�
	����
��
 ��� ��� +��=

�����0	���

��
�
�@ '�
���� ��
 .���
	�� ���
 ��
��7����� 3
��7�
��������
 G+�������D�����=

��� ���
�
����HV
"@ 9�
 &7��
��������� ��

�� �� ��
��7� ��� �%�$%>:	 
�����@
;@ 6� 0�
� ������
�� ����� &7��
���������
��
�
 	���0�����B ��
 ��� 8��=

��
���
��� ��� ����� &7��
��������� �� ��
��7� ��� �%�$%>:	 ��0A�

��=
����@

����	�
) 
.� ����� �	���
�� '����
��	���� �� �������& ���� ����$�
�� ����� *��$���

�	�����%��%
�� ����������& ��� ����� *��$���	�����% �� ������� #$�

3
,4
!0� %��2��
���	�	�

(����
����	���
�
�
�
�
��
�
�

6��������������
�� ��� �������� �����������
��� 



,.

�@3&6�A6" 

���
��#�� ��� �������?

�@ .	��������7�	
��
 ��� 8����
�
�
�7���@

$@ &7��
�������
	��������
 �
�7���
G���	�
������ �����H@

-@ 9�
7� ��� ���
� )�
 ���
�� :	���
B
�	�� .�
���
����
B �	�	7� �
DC�
�
.�
����7�� 	�� ��� 9��� 
����@

/@ :	���
 	������� ��� ��� ���
� )�

�7�
��C��@

�@ E���
� )�
 
��7�� ��D����� �	
���B
�� ����� �	��

�7��� L�� �� ��=
7��
�@

"@ �� ��� $% 2������ 	�0	
���B ���
�	� .�
� 
�7���� �
����@ 

(����
����	���

6��������������
��

�
�
�
�
��
�
�

Schornsteinmündung

Schornstein

� geöffnet
� geschlossen

Phase I
Aufheizen



,,

!;@ &����
 .�
� ���
����B �	��� ����
,
���7��7�� G7	@ �% 7�H ��������B
��� ��� �	���� 8����
����� ��=
��7��@

!�@ �� ��� $% 2������ 	�0	
���B ���
��� ,
���7��7�� ��������@

!<@ 9	� ���	��� '�
���� ��
 '�
�	=
������	���
 ��� .�
� ��

��@

�%@ E���
� ��� ���
� )�
�� ��
��=
���7� 	��7�
��C��@

��@ &7��
�������
	��������
 �� ��7�
������ G0�7����H@

�$@ 8����
 ���
 ��� &)�4)�&)*:�)	=
��� ����7�	
���

�-@ ���� 6

��7��� ��
 &�	
������
	=
��
 G"� �1H 0�
� ��
 8����
 	���=
�	���7� �� ��� ��
�	
���
���
���
�����@

*�����
) 
��� ��� 5��
�%� #$� ������	$�� ��	
($
%����� �� �����	��6
� ��� /$
��	��-� ������ ����	 ����

����� ��� (
����� ��� ��� *��$���
�	���-
���� %���	��& ���� �����
��� ����	�� 5����
��7�� ���
'
���� #����������

� ��� ������	$�� ���� ����	 ��	 /�
��
��� ��� ��	 8���
	 ��������%��
����-	 ������ , ���� -��� ���� ���
���2��%��% ��� ��� ���� ���� ����
����

(����
����	���

6��������������
��  G3�
��������H

�
�
�
�
��
�
�

Phase II
Bildung ei-
ner Glut-
schicht

Schornsteineintritt

Schornsteinzug
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